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7 Anobject of mass 50 kg accelerates from a velocity of 2.0m/s to a velocity of 10m/s in the same

direction.

What is the impulse provided to cause this acceleration?

A 250Ns

8 Ascalar quantity has

A magnitude and direction.

B 400Ns

no magnitude and no direction.

B
C  magnitude but no direction.
D

direction but no magnitude.

Which nuclear reaction takes place in a nuclear power station, and which nuclear reaction takes

place in the Sun?

C 850Ns

Energy is released in some nuclear reactions.

nuclear power

B B B

station the Sun
A fission fission
B fission fusion

D 2500Ns
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B
nucl;::iggwer the Sun

A fission fission

B fission fusion

c fusion fission

D fusion fusion

10 A lorry of mass 4000kg is travelling at a speed of 4.0m/s.

A car has a mass of 1000kg. The kinetic energy of the car is equal to the kinetic energy of the

lorry.

What is the speed of the car?

A 20m/s B 40m/s C 8.0m/s
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1 The diagram shows an enlarged drawing of the end of a metre rule. It is being used to measure

<

the length of a small feather.

What is the length of the feather?

A

2 The speed-time graph shown is for a car moving in a straight line.
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What is the acceleration of the car when the time is 40s?

A om/s B 158m/¢

c

15 /g2
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speed runner 1

runner 2

time

What does the graph show about the runners at time t?

A Both runners are moving at the same speed.
B Runner 1 has zero acceleration.

C  Runner 1 is overtaking runner 2.

D Runner 2 is slowing down.

A satellite orbits the Earth above the atmosphere at a constant speed.

The diagram shows the satellite at one point in its circular orbit around the Earth.
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5 A cup contains hot liquid.

Some of the liquid evaporates.

What happens to the mass and what happens to the weight of the liquid in the cup?

mass weight
A decreases decreases
B decreases stays the same
[ stays the same decreases
D stays the same stays the same

6  The diagrams show three uniform beams P, Q and R, each pivoted at its centre.

The two forces acting on each beam are also shown.

20m__}1.0m
<20m _10m
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Which beams rotate clockwise?

A

B
c
D

Pand Q only
P and R only
Qand R only
P,QandR
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